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6-4 Vectors and Projections
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Ex 1 Find the projection of # onto v. (Find w))

u=(32)

Write u as the sum of two orthogonal Vectorsj +w,).
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Ex 2 Find the projection of # onto v. (Find w)

Write u as the sum of two orthogonal vectors (w; + w,).




6-4bc Notes.notebook February 06, 2012

wori~ PO

_U

-
N
')

Work = HPr OJ'PQFHHP—QH
- cos 0| [Pg|

~FePQ

Q

Ex 3 Find the amount of work needed to lift a 200 1b weight
4 feet.
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Ex 4 Find the amount of work needed if the force is 500 lbs
and the distance is 900 feet.

500 Ibs
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Ex 5 Find the work needed to move a particle from P to Q if
the magnitude and direction of the force are given by .

i <7 e300

V= <3,1>
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Homework
p.446
#45-48, 57-58
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